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HAR HRRIR OB ] | SRR QTR [/ ] B[]
5/23(£)~31(H) AEREFENRE 11 1 -
5/23(%)~31(H) HIR%Rst 5,479 609 72%
HARS HRRICR OB E] | SRR TR [/ ] B[]
6/1(B)~14(H) KBRXRE 8,584 613 -
6/1(R)~14(H) HIm%Rst 8,584 613 72%

BCNFETOREACHRE-RERBEERIED)

HAR HAR DB ER [ fEE ] AR DT REER [ 1E/ B ] TRAE[ K]
3/29(8)~4/4(%) 1,171 167 20%
4/5(B)~11(1) 2,193 313 37%
4/12(H)~18(%) 2,912 416 49%
4/19(H)~25(t) 3,667 524 62%
4/26(H)~5/2(1) 3,795 542 64%
5/3(H)~9(1) 3,938 563 66%
5/10(H)~16(1) 4,067 581 68%
5/17(H)~23(1) 4,227 604 71%
5/24(H)~30(1) 4,265 609 72%
5/31(H)~6/6(t) 4,301 614 72%
6/7(B)~13(t) 4,289 613 72%
6/14(H) 601 601 71%
HAR 3/29(H)~6/14(H) &t 39,426 505 66%
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BEHR TRAERIDIES - B2/ B TRAERDIEE - FE/H HARISRE TR EEY
KRR = 18R 1HE2E~21FEAME 11F1821E 2{E
RIR(FF) = BRIl BIR~11HE2E BIR~11HE2(E 8f&

hER = ALMRGET %) 1FE2{E~1.5F1E3ME 11H82{E 11E
W6 A1 HA)~6 B 14 B(A)DBI{E—& IR : 103 IRIE XTHR{F:8,584 {F)

EEHE RABERIDIEE - (EE/H B OEE - FEE/H HAINSRETIREEY
ER(HA) = KRAEFER) 154F1830(&F S5E1E10/E 2801F
ER(PA) = KR(EFFA) 31F1E6ME K 84{F

ER(PA) = ALIRGHTR) 164F18321F AF1E8(E 3361E
HR(PR) = &R 174F1E341F SiEE10/E 3361E
HR(PA) = AFH 129F18241& SEE10E~61FE12(E 1921&

HR(PIA) = mml 31FE6E 11F1821&E S56{&
EHR(PIA) = nB)l| A1F1E8ME 11F182f&E S4&E
HR(PA) = I 31F1E6(E 11F182f&E S56{&
HR(PA) = BIL A1HES(E 11F182f&E 84/F
HR(PIA) = HEE 31F1E6/E 11F182f&E S56{&
HR(PHA) = & 61FE12{&E 11F182f&E 140f&
HR(PHA) = =R 31F1E6(E EIR S4&E
HR(PIA) = FH A1F1E8ME EIR 112f&
HR(PEA) = LW 2118 4(E EIR S56{&
HR(ER) = /i 61FE121E 11F1E2f&E 1401&E
HR(PIA) = hFp 2{F184AE 11F182f&E 28(&F
RR(PIA) = micaR 31F1E6/E EIR S4&E
ER(PIA) = [ SHFHEL10E EIR 140f&
HR(PA) = L5 81FiE164&E 11F1E2M&E 196fE
HR(PH) = ILOFE AF1E8(E EK 1124&E
HR(PA) = HE SEHEL10E 11F182f&E 1121&
HR(PIA) = B 61F1E 1218 11F182f&E 140fE
HR(PA) = S 7HHE14ME 11F1821f&E 168fE
HR(PIA) = & SHFEL10E 11F182f&E 1121&
HR(PIA) = #il 61FE 1218 11F182f&E 140fE
EHR(PA) = b 41F1E81E EIR 1121E
HR(PA) = X7 61F1E121E 11F182f&E 140fE
HR(PIA) = RIF 61F1E121E 11F1821f&E 140fE
HR(PIA) = BE 81F1E16/E 11F182/&E 196fE
HR(PIA) = S5 61F1E121E 11F182f&E 140fE
HR(PA) = ER 81F1E16/E 2118 4AE 168fE
HER(PHA) = BEAXE 11F182f&E EIR 28{&
HR(PA) = =2t 11F182f&E EIR 28{F
HR(PA) = A8 2118 4AE EIR 56/&
ER(AH) = KIR(FM) 2118 AE EIR S56{E

ER(AH) = ALRGhTRR) 11F1E2f&E EIR 28{F
HR(BH) = 2118 AE EIR S56/&
HIR(FH) = f&h 11F182f&E EIR 28{&

ABR(FF) = ALIR(GEhTRR) A1F1E8E 1FHE2E~21F1EAME 78{&

ABR(BEFE) = ALIR(FhT=%) 31E1E6(E EIR 84&E
AIR(FF) = t&Eh A1F1E8E 1FHE2E~21F1EAME 781&
AIR(FF) = 3B%H 2118 4E 11F182f&E 28fE
AR (BE7a) = BBER 31E1E6/E 11F182f&E S6/E




IRHR RERIOEE - E5/ B REROEE-FE/B AR ZRETIREER
ABR(FF) = e 11HE2(E EiR 28fF
ABR(FFR) = EF& 3iEiE6fE 113E2(® 56/#
ABR(FF = =) 11F1E2(® ER 28fF
ABR(FF) = #H 3iFiE6fE 11FE2(%® 56/#
ABR(FR) = 788 AEESE ER 112f8
ABR(FER) = WA 3iFiE6fE ER 844&F
ABR(FER) = e 8iE1E16(E 21 1E4E~31HE6E 16448
ABR(FR) = #18 AEE8fE ER 11248
ABR(FF) = 1BF 21FE4fE 11HE21(E 28fF
ABR(FR) = hE AEE8fE 113E2(%® 844&#
AR(FR) = Rk 1131E2(%® ER 28fF
ABR(FF = #41l 3iEiE6fE ER 844&#
KR(FR) = X9 3iEiE6fE 113E2(® 56/#
AR(FER) = RIF AEESE 11HE2(%® 844&F
ABR(FF) = BBX 3iEiE6fE R 841&F
ABR(FER) = =5 5FE10ME 11HE2(%® 11248

KIR(FFR) = BE 74E1E144E 21FE4E 1401E
ABR(FR) = EAS 113E2(%® 0.5FE1® 1448
ABR(FFR) = BEXS 1131E2(® B~ 11FE2(E 18&@
ABR(BEF) = BB 1131E2(® ER 2818
ARG %) = 2iaA) 3iEiE6fE 21FE4E 2818
LIRGHTmR) = & 3iFiE6fE 113E2(%® 56/#
ALBRGR %) = FXH 21FE4fE ER 56/#
LIRGRTmR) = 88 3iFiE6fE ER 844&#
ALIR(EER) = e 3MHE6E~4TIESE 21 1EAE~31HE6E 4448
ALIR(EER) = XER 61E1E12(% HEE~5FE10/E 661E
ALIR(EH) = =R 1131E2(% ER 28f&
e = LIRGRTiR) 5FE10ME 1FHE2E~21FEHE 102f8
¥k = ALIRGRTRR) 21FE4fE ER 56/#
MV = BBER 1131E2(%® ER 28f#
HhEB = ALRCGR %) AEESfE 113E2(%® 844&#
thER = FPER AEESE 11FE2(%® 844F
ELL = FPER 1131E2(%E ER 2818
fEm = ALIRGTRR) 21FE4fE 11382 288
& = BbE 61E1E12(% 21FE4fE 11248
B = 88 1131E2(%® ER 2818
&k = e 21FE4fE 11FE2(%® 2818
fak = hE 21FE4fE 11FE2(® 2818
Bl = RS 21FE4fE ER 56/#
B = SX 21FE4fE ER 56f&
& = Al AEE8fE 113E2(%® 844#
fEE = = 7EE14E 21FE4AfE 1401E
B = BEXS 1131E2(%® ER 288
B = BAS 11382 ER 2818
RS = il 1131E2(%® ER 2818
BESE = BEFE A1E1E8E 11FE21(%E 841&
BESE = BAS AEESE 1.57HE3{E~3.51H87E 58&#
EBEE = ERE 21FE4fE 11FE2(%® 28f&
BREE = 8FEKE 8iE1E16(E 2HEME~31HE6E 160fE
BEE = 25 41E1E81E 1HE2{E~21FE4HE 76f&
BERE = HKEED 3iFiE6fE 21FE4fE 28f&
BEAE = ERE 31EHE6E 21FE4fE 28f&
BE = BEAS 11FE2(%® ER 28f#
BB = BAR 1.51183(& 0.5FHE1E 2818
BEF = ARE 7iHE14E EHEE~5EE10/E 841
e = = 9.511819& 51318 10fE 126{E
HBER = B8 7.51H815%F 31H1E6/E~3.5HE7E 12218
=24 = ZEH 2EEME 11EE2fE 2818
=i = Al 2.51HE5E 11FE2(® 4218
ais = 53E 3fHE6E 1HE2{E~21FEHE 48(&
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